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(Cs-134+Cs-137)><

(Cs-134+Cs-137) X<
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(10/17) 0.02 Bg
11/4
1/2
(Bg/cm?) = (Bg/cm?®)>=<0.5
=(1.4E-4+2.0E-4)><0.5=1.7E-4 Bg/cm?
(Bgls) = (Bg/cm?) =< (m3/s)><1E6(cm3/m3)

= 1.7E-4><10.1=<1E6 = 1.7E3 Bg/s = __0.06 _Ba/
1.7E-4=<12.5=<1E6 = 2.1E3Bg/s =__0.08 Ba/

1174

= (Bg/cm3)>=< (m3/s)><1E6(cm3/m3)
=(2.5E-5+3.2E-5)><12.4><1E6 = 7.1E2 Bg/s = 0.03 Ba/

( Bg/ )=0.02+(0.06 0.08 -0.03=__0.05 0.07 Bg/ 0.1
1 1 1 1
/or®
2B 1 4 B 14 (ZBq/m?) 2B U 4 2B 14 (ZBq)
133 14 3% BB U D 908 10 08 8% 9 5%
«C Bya | (/) Byor) | (/) Bya) | (/) « Byar) | (/) Byer) | (/) Bya) | (/)
1-131
("231) D - D - 1608 (8) 1D ' 1806
Cs-134
((}21345 Lo iy . ) s C2) 2.56-05 0.01 D - 268
Cs-137
((3;337) 2.06:04 0.07 1806 0.01 3608 (30) 3205 001 ' - S




(Cs-134+Cs-137)><




11/1
(Ba/s) (Bg/cm3)>< (m3/s)><1E6(cm3/m3)
=(8.4E-6+7.3E-6)><26.6><1E6 = 4.2E2 Bg/s = __0.015 Ba!/
(1.8E-5+1.9E-5)=<30.2><1E6 = 1.1E3Bg/s= _ 004 Bg/ __ ~0.1
(Bg/s) (Bg/cm?)
=< (m3/s)><1E6(cm3/m?3)
=(2.8E-5+4.3E-5)><0.004><1E6 = 0.28 Bg/s = __0.00001 Bag/
11/2
(Bg/s) (Kr-85)(Bg/cm3) > (m3/s)><1E6(cm3/m?)
=9.5E2><0.004><1E6 = 3.8E6 Bqg/s =__137 Baq!/ -140
2 2 2
23 11 1 23 11 1 23 11 1 @®g/cr)
11 23 13 23 11 23 13 23 11 23 13 23 2
( ) Bg/cm’) 7/ Bq/cm®) 7/ Ba/cn®) /
("é?’l) ND ND ND - 1E-03
((25_2134) 1.5E-05 0.01 1.8E-05 0.01 8.4E-06 0.00 2E-03
(055337) 1.7E-05 0.01 1.9E-05 0.01 7.3E-06 0.00 3E-03




(Cs-134+Cs-137)><

(Cs-134+Cs-137)><




11/10
(Ba/s)= (Bg/cm3) =< (m3/s) <1E6(cm3*m3)
=(4.2E-3+5.0E-3)>=<0.58><1E6
=5.3E3 Bg/s
=_019 Bg/
11/9
(Bg/s)= (Bg/cm3)>< (m?3/s)><1E6(cm3/m3)
=(1.9E-4+2.3E-4)><(0.31>=<5.6><5.6)><1E6
= 4.1E3 Bg/s
=_015 Bg/
019 Baq/ 015 Baq/ 034 Bg/ 04
(GI)} ()] (G} (GE)) ( (GEED)) ) )
31D 110 31D 2110 gBcha) B 119 B 19 2319 (ZB:]/GT?)
2O 1230 2O 23 BO B BOD B nxs 1% nxs n% 25 125
« ) mef) | (/)| e [ (/)| med | (/)| ) | (/) « ) o) | (/)| mad | (/)] maD) | (/)
(":331) \D V) - Y] - Y] - E® ('-231) D _ 0 ) \0 E®
é}z% 4x@ | 21 1EB | 09 | 6EW | 03 | 3EW | 0B E® 5&233‘; 7550 0.3 2158 11 LE0 0.10 2603
(%H) SEG | 17 2E@ | 07 | 7E0 | 04 | 4RM | 0B EE@ ((19:;0137) 9.66-04 0.3 26608 0.87 2E-04 0.8 E®




0.1 Bqg/
0.1 Bqg/
0.4 Bqg/

0.6 Ba/

0.2 Ba/

0.6 Ba/
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0.6 Ba/

0.1.mSv/

140 Bqg/

1,3

Y

0.00012mSv
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2km 1 3

O ( 11/11 )
Cs-134 3.2E-8 Bg/cm3
Cs137 3.2E-8 Bg/cm3

] 2.0 2.7 m/s
D

. 015 Ba/  -0.2




